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#!/bin/sh

I12CADDR=0x6A

readword ()

{
reg=$2
1sb="1i2cget —f -y 3 $1 $reg b
reg=$ ((reg+l))
msb="i2cget —f -y 3 $1 $reg b
echo $(((msbh<<8) | 1sb))

to_2s_complement ()
{
val=$§1
if | [ $((val & 0x8000)) —eq 0 ]; then
val=$ ((((Cval)+1) & OxFFFF)*(-1)))
i

echo $val

to_degrees ()

{
echo “echo $1 $2 | awk ’ {printf”%d V-¥n”, ($1/$2)*360} °

# device check

whoami=i2cget —f —y 3 $I12CADDR O0xOF b~

if [$? !=01] [| [ $whoami != 0xd4 ] ; then
echo “Error: Communication error with L3GD20. Make sure it’s connected”
exit 1;

fi

# initialize
# Power down and disable axis, bandwidth=0, Data rate=0
i2cset —f -y 3 $I2CADDR 0x20 0x00 b

while [ 1 ]; do
# Normal mode, enable all axis
i2cset —f —y 3 $12CADDR 0x20 OxOF b
# wait for data; use individual axis check bits
while [ 1 ] ; do
val="i2cget —f -y 3 $I12CADDR 0x27 b
if [ $((val & 0x07)) —eq 7 ] ; then
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break;

fi
done
gyro_xout=$ (to_2s_complement $(readword $I2CADDR 0x28))
gyro_yout=$ (to_2s_complement $(readword $I2CADDR 0x2A))
gyro_zout=$ (to_2s_complement $(readword $I2CADDR 0x2C))
# FS = 0; 250dps; 8. 7bmdps/digit
gyro_xout=echo $gyro_xout | awk ’ {printf”%0.6f¥n”, $1%0.00875} "
gyro_yout=echo $gyro_yout | awk ’ {printf”%0.6f¥n”, $1%0.00875} "
gyro_zout= echo $gyro_zout | awk ’ {printf”%0.6f¥n”, $1*0.00875} "
gyro_xout=$ (to_degrees $gyro_xout 287)
gyro_yout=$ (to_degrees $gyro_yout 287)
gyro_zout=$ (to_degrees $gyro_zout 287)
echo “#k%x Gyroscope k"

echo GYRO_XOUT : $gyro_xout
echo GYRO_YOUT : $gyro_yout
echo GYRO_ZOUT : $gyro_zout
# delay

usleep 500000

done
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# 13gd20. sh
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# 13gd20. sh

kkkk  Gyroscope  skkekk
GYRO_XOUT : 0°
GYRO_YOUT : 0°
GYRO_ZOUT : 0°

skkk  Gyroscope  kkkk
GYRO_XOUT : —42°
GYRO_YOUT : 14°
GYRO_ZOUT : 30°
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